Project 2 unit 1-2

**|n the name of God**
Student’s name : date:

Teacher’s name: total score:60

A.Listening(8)

Listening Instructions: Listen to the interview then choose the correct answer.
1- What city does the man live in?
a. Berlin

b. Sydney

(@]

. Hong Kong

N

. What's the man's favorite thing in the city?

[o})

. the nightlife

b. the traffic

(@]

. the parks

3. What does the man usually buy at the night markets?

a. food

b. CDs

c. clothes

4. What kind of public transportation does the man usually use?
a. the train

b. the bus

o

. the subway
5. Where does the man live?
a. in a house

b. in an apartment
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c. in a suburb

6. How many apartments are in the man'’s building?
a. more than 100

b. more than 200

c. more than 300

7. What does the man eat at a restaurant in his building?
a. breakfast

b. lunch

c. dinner

8. Why does the man end the interview?

a. His bus arrives.

b. He is hungry.

c. He gets a telephone call.
B.Vocabulary

A. fill in the blank with the appropriate months of year(4)

September/March/November/August /June/April/
1-January 2-.................. R Ao, 5-May 6-................

7-July 8-l O 10- October  11.........cceenenne. 12- i,

B- fill in the blank with the suitable word.(10)

glue- Lunar- disappearing-September —eagle- feed —takes- protect-animal-Celebrate-
1-if you pass your exams, we will have a party to ..............

2-lhaveadog. l..................... the my dog everyday.

3- Amy’s birthday ison 9™.....................




Project 2 unit 1-2

C. Grammar:

A-Unscramble the sentences(6)
1-hair/ Jake/ boy/is/the/dark/short/with . ......... ...,
2- seven /can/ ninety-eight / divide/ by / you? ..o ?

3- know/ get/ I/ you/ it/ you /it /a/ chance/now/ will/ to/ like/ if/ give.

Lo ? He is playing the guitar.
2 ? I’ve got three photographs in my bag
B ?we are having our lunch in the park
Ao ? 1 like elephant.
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C- choose the best answer(6)

1-Tess .oovvevvnnnn.. her grandmother every week.

a.visit b. visits c. visited d. visiting
2 language do you speak?

a.where b. what c. when d. who

3-A: This pizza is delicious! Where did you get it?

Bil o (go) to Lombardi's. Their pizza is the best.
a.went b. go c-going d.am going
4- A: Whatareyou ...................... (eat)?
B: It's tomato soup. | made it myself
a.Eating b. eats C. eaten d. are eating
5- I’ve got some new shoes.do you like.................. ?

a. It b. them c.they c.their
6-We.. .o our books to school.
a.must to take b. must take  c. must have taken  d. must taking
D.Reading:

Read the passage then choose the correct answer.(10)

Barbed wire

Barbed wire was invented in 1873.it was made of sharp metal diamonds that were held in place
between two tightly twisted strands of wire. Since then more than four hundred different kinds of
barbed wire have been developed.

In the early days barbed wire caused many fights. The fights occurred when cattlemen found
grazing land blocked by another man’s barbed — wire fences. In those days the barbs were long;
they could cause terrible wounds. Cattle sometimes died after running into a barbed — wire fence.

Today barbed wire is not as dangerous. The barbs are shorter, and the wire is thicker and easier
to see.

Check the correct choice.
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1-Barbed wire was invented in............

A. 1853 b.1863 c.1873 d.1883

2- The barbs had the shape of .................

a.squares b. diamonds c. circle d. ovals

3- The barbs were held in place by.....................

a.wire b. nails c. strong rope d. wooden pegs

4- The men most strongly against the use of barbed wire were the.................
a.city — dwellers b. farmers c. soldiers d. cattlemen

5- in the early days barbed wire was dangerous because of the ................... .
a. thickness of the wire b. height of the fence

c. weight of the fence posts d. length of the barbs

6- today barbed wire is less dangerous because it.....................

a. Has thinner wire b. has longer barbs

c. can be seen more easily d. both b& ¢

7- According to the passage which one is not correct?

a. Different kinds of barbed wire have been developed for different purposes.
b. Some cattle died because the wires were long and thin

c. Today barbed wire is not as dangerous as before.

d. In the early days barbed wire could cause terrible wounds

8-according to the passage which one is correct?

a.More than 400 kinds of barbed wire were developed in 1873.

b.Barbed wire has always been dangerous for men.

c.Different kinds of barbed wire have been developed for different purposes.

d. In the early days barbed wire was dangerous because of the height of the fence..

9- What is the antonym of thicker in the last paragraph?




Project 2 unit 1-2

a.longer b. thinner c. shorter d. taller
10-according to the passage which one is not correct?

a.some cattlemen blocked their land by barbed - wire fences not to let the others bring in their
cattle.

b. in the early days cattle were wounded because they couldn’t see the wires.
c. barbed wire was made of sharp metal diamonds.

d. In the early days barbed wire was dangerous because of the height of the fence

E. writing(10)

write apassage by answering these questions at least you use 200words.
What’s your favorite animal?

What do you know about it?

Why do you like it?




